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1
(1)P(Z2 >1.57)=1- P(Z <1.57)=1-0.9418 = 0.0582
(2) P(Z <1.34) = 0.9099
)P(-037<Z2<16) = P(Z>16)-P(Z<-0.37)
= P(z>16)-{1-P(Z>0.37)}
= 0.9452—(1-0.6443)
= 05895
4)P(-28<Z<-021) = P(Z<-28)-P(Z<-021)
= {I-P(z>021)}-{1-P(z>28)}
= (1-0.5832)-(1-0.9974)
= 04142

X-2_56-2
P(X>56) = P 2
(1)P(X 256) ( 3 2 3 j

= P(z>21)

= 1-P(z<12)

= 1-0.8849

= 01151
2 P(X <10) = P(% < %}
= P(z<267)
= 0.9962

B)P(B2<X<77) = P <
3 3 3
= P(0.4<Z<19)
= P(z<19)-P(z<04)
= 0.9713-0.6554
= 03159

P(32<2<7.7)
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@ P(X|<4) = P( 4-2 X2 432j
= P(- 2<Z<067)
= P(Z<067)-P(z<-2)
= P(Z<067)-(1-P(z<?2))
= 0.7486-(1-0.9772)

= 0.7258

P(x <4)

3
(1) P(4<W <6.2)=0.2x(6.2—4) = 0.2x 2.2 = 0.44

@E@V2-aw+2) = [(aw?-aw+ 2)%dW
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(3) EW?)

3

2(3-2)

(3\(2 +Y),C,03"(1-03)*"

@) P(Y =2)=,C,0.32(1-0.3)"° = 0.3°(1-0.3)"* = 0.189

@E@@Y2+Y)

I
<M°°

0+ (3+1)><3>< 0.3x0.72 + (3x 2% +2)x3x 0.3 x 0.7
+(3x 3 +3)x1x0.3°
=522

@ P(X =i,Y=]j)

P(X =i)xP(Y = j)
,C, x0.3% x(1- 0.3 *x,C, x0.3" x(1-0.3)>"
,Cyx5,Cy 0.3 x (1-0.3 "
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@) X+Y 01,2345 0<W<5
P - ﬁ‘ 2Cix 0.3 x (103, Gy x0.3" x (L- 0.3
=
- kﬁ ,Cx5Cy i x0.3% x (1- 0.3
=
= %‘, sCw x0.3" x(1-0.3)"

T
<}

(5)E(X)=5%0.3=15
Var(X)=5x0.3x (1-0.3) =1.05
(6)W ~ Bin(5,0.3)

)

3) 2
(4) w X v
w
5 _@®., ® 7/14/03
(V)P(X =4)= c

1
P =2|x =4)=PY=20X=4) 20 _1

P(X =4) 1 4
5
@P(Y=2) = PY=2|X=)P(X=1)+P(Y=2|X=2)P(X=2)

+P(Y=2|X =3)P(X =3)+ P(Y =2| X =4)P(X = 4)
+P(Y =2| X =5)P(X =5)
1 11 11 1111

= Ox=+=X—4+=X—+—-X—+=x—
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(5)(4) P(X =1]Y =2)=

E(X Y = 2)=1x 0+ 2x 2 4 3x 20 4 4 22 4 5, 22 _ 240
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